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@®© &3 T K GE

" TERXTR (ha) TKE &= (m) A T TP %

X i ALBE XX - — — — - — -

i PRIk 1 ok 1 onE | 2 nE | Bk i D | Bk [ G
[} &t 55 55,179 52,545 270,038 24,740 105 193,420 41 1,556,960
& i -] 7 9,901 6,890 33,110 9,190 12 59,540 6 350,140
I A o] 6 11,221 11,221 52,100 14,970 22 39,960 5 147,890
How W 4 3,365 3,365 27,910 580 5 10,120 3 69,900
2o oW\ W 2 1,262 1,262 - - 2 3,400 1 58,230
= B if 2 1,354 1,354 - - 3 2,220 1 40,000
7+ "o 1 2,337 2,754 5,420 - 1 1,280 1 43,600
Foom W 1 715 715 8,730 - 2 6,900 1 29,300
& oom f 1 815 815 48,680 - 1 5,190 1 38,300
w + i 2 5,584 5,584 7,160 - - - 2 168,600
=S I ] 2 2,946 2,946 10,110 - 17 24,620 1 23,800
Be O W 1 1,699 1,699 - - 4 4,170 1 54,400
£2: S | | 3 2,780 2,780 9,030 - 4 1,890 3 83,000
[ > ] 1 1,676 1,676 1,530 - 7 2,900 1 53,000
o 8 2 813 813 10,520 - 2 1,380 2 59,900
G FAGE=

@ /N T oKk E
X T ok E E R (o U X A
ok o | W Kk E & W (ha)

2 B 8,470.0 253.0 826.1 36,676.2
& M 1,613.1 69.3 379.3 7,355.0
tT S /N ] 2,578.5 56.6 389.8 11,123.1
W' W 344.3 3.3 51.0 1,358.6
2o W 116.3 — — 653.4
= B W 241.4 — — 939.3
H oL E W 289.4 5.5 - 1,311.5
#oR W 114.9 2.6 6.0 505.6
5 B 47.9 2.4 — 155.5
A O 638.1 31.1 — 3,465.0
2 Om W 637.6 — - 2,389.5
Be  HTH 155.7 15.4 - 497.1
o) 175.7 0.7 — 693.6
[ S ] 280.3 44.7 — 955.2
o %o 111.0 - - 453.0
En S S ) 159.9 — - 601.4
L 68.0 0.9 - 250.7
S ] 66.8 - - 262.7
(/I 34.6 - - 133.1
gr = oo 130.1 - - 537.6
oA e 124.3 - - 635.3
o) 53.0 — — 113.9
=N NE I 139.0 0.8 — 718.9
Mgt 5N 18.6 — — 82.9
WM AT 83.7 8.2 — 371.8
S 64.7 11.5 - 277.7
E B 75.6 — — 338.6
Asolomr 22.5 — — 201.5
& oom Wy 46.8 — - 161.8
o | 38.2 — — 133.0
(F) FoR AL O RVERE T /K =\ I3 T /KB D% & & F 8 A,
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A T EE R E R _ PHRIBAE3JI 31 H B
" PTEKXI% (ha) T K& & (m) R T ik TP ik
X 5 ALER X 4 - — ~—— — - — -
x 5 MR Tk T 5k 1 2k o n® | Bk | ik i
©OH W 2 1,580 1,580 4,140 - 1 6,000 2 90,700
B R =< R 1 379 379 - - 4 2,280 1 30,300
i S ) 1 565 565 4,770 - - - - -
b I ic I ] 1 623 623 3,308 - 1 530 1 63,800
= 1 417 417 3,150 - 2 870 -
G TTI 2 456 456 3,120 - - - 2 35,400
3 ) 1 606 606 - - 1 200 1 12,100
FEoETH 1 886 886 4,610 - - - -
o =T 1 128 88 3,000 - 1 90 1 10,600
W HT 2 394 394 1,950 - 9 13,830 - -
T/ G 1) 2 537 537 12,550 - 2 1,400 -
E R m 1 682 682 2,860 - 1 650 -
Jomy 1 214 214 670 - - - 1 25,100
& B T 1 442 442 6,180 - 1 4,000 1 23,000
7 T 1 281 281 - - - - 1 11,900
el my 1 521 521 5,430 - — 1 34,000
Rl (R 2 & D) SRR IS4ES A 31 B BAE
(A) LB X A 1 TR AR (B) 1T Bt X ik A 1 W KR (%)
(TN WAL J) ok B (Fm’/ ) TN (A)/(B)
1,940.7 1,010.4 37738 51.4
500.5 418.2 713.3 70.2
561.8 141.5 786.8 71.4
92.4 39.7 210.7 43.9
26.4 47.5 41.7 63.3
67.5 23.4 112.4 60.0
59.8 35.9 123.8 48.3
27.4 46.5 75.2 36.5
8.9 6.9 97.2 9.1
159.5 100.0 238.6 66.9
108.4 4.4 166.2 65.2
31.1 22.6 120.1 25.9
19.0 14.9 115.1 16.5
54.8 37.7 130.7 41.9
22.2 10.5 85.2 26.1
23.3 13.4 80.7 28.9
11.4 10.8 26.7 42.5
14.5 — 52.5 27.5
5.7 4.5 42.2 13.5
18.9 8.0 37.3 50.8
13.3 6.3 35.0 38.0
3.6 3.1 45.7 8.0
30.6 — 50.8 60.2
1.7 2.8 10.1 17.1
22.9 — 38.9 59.0
15.4 0.8 31.5 48.7
20.2 — 38.5 52.4
5.0 5.4 21.1 23.5
7.9 2.4 28.5 27.8
6.5 3.2 16.6 39.1




